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©5°12U£ 2018 AT 2T2UE ~Ua0ek 126a2T2U ©i tal_ 2UEU 926080 D2TT20a00UC8A° AéT ~UatecT2UEU 12E6°5F
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(N=1%= 1A30Y»AAT)

= Ak iy TmEma A e ey 3 Arasu
== (a0c» W 3CY 1=ZEE»AC TY1»e=-CT=13Y. NN AVI3(nVA
L% = 13831311-U3Y NALT31Y»AC 3YT3YAUY»AA Jwpswyw pnot | $nbnuwyh pyniok
1 2 3 4 5 6
4000 |AU_=2@°UA 12Eé°s 80,237,969.8 80,179,969.8 959,662.6
31 A4l
4050 |2. AUA20LT 12Eé°8 X 79,278,307.2 80,179,969.8 -
31 A4l
4100 |1.1 2PE2T2Ugk 12802Tda0A0asU X 6,401,886.9 6,401,886.9 -
31 ATa0
4110 |, 52@ai 1028140 2PE2T212580°8 21 X 6,401,886.9 6,401,886.9 -
P21 °E2710280°8
&RCo
4111 |- 2RE3TAOY»AC SRES WS T3A0»0 ~ NS T»ES Tx3AY»f 4111 5,643,348.5 5,643,348.5 -
4112 |- &a3i-"3wiRaly»h, 1A303T3Y EASE4&ieaiUY»A ~ N3 wail 4112 758,538.4 758,538.4 -
Tx3AY»A
4200 |1.2 12&20acAlaclUesk ©1 2as820gU°sk X 17,029,208.9 17,029,208.9 -
0°eg 236D
31 ATa0
4210 |p25a6U=2T2T20 12Eé&°5 X 8,256,708.6 8,256,708.6 -
aRCo
4212 |- %Y»f-»0CT 1363(a0AlasYY»fi 4212 280,862.2 280,862.2 -
4213 |- TaU&SY=3t 1=2é6=3(a0AlasyY»f 4213 7,255,042.1 7,255,042.1 -
4214 |- T3&C 1=363(4pAla6YY»h 4214 201,342.5 201,342.5 -
4215 |- 2&43Nai=-A3T3Y I3Eé»A 4215 424,535.5 424,535.5 -
4216 |- TalUC " e3AUS TaRasUY»AC TA0ZT3tacAlasY 4216 94,926.3 94,926.3 -
4220 | Tad1a80aU°sk @i bde2T20acAlasuuess X 62,798.0 62,798.0 -
12Eé°s
&RCo
4221 |- U»A0CY -afTas0asuy»f 4221 48.0 48.0 -
4222 |- 2 w=3e3NU=3VI3Y -anTai0a0Y»AC - TAT T=2Eéx»h 4222 62,750.0 62,750.0 -
4230 | 4202202962040 20t 12&20a0A0a000U°8L 0Peg X 2,320,754.7 2,320,754.7 -
“o5a60
&RCo
4231 |- P3fa3T3Y 1363(40Ala6YY»h 4231 3,682.9 3,682.9 -
4232 |- 303T31-53(CY 1=363(40Al40YY»h 4232 46,354.0 46,354.0 -
4233 |- 2RE3T3T34%0C USB6Y=-Cor3T3Y 13h-36U3Y 4233 9,262.0 9,262.0 -
1=3¢3{a0AlasYY»h
4234 |- DO T3 W T3T3Y 1363[a0Al45YY»f 4234 48,556.4 48,556.4 -
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= “laic» WSICY TSEE»AC WY T »E3-Cr3T3Y o o
c = e Mo fiAd Sm £ S e et AR & NN AYL3U»YA
D’EJ = 1363130-U3Y NaTT31Y»AC 3YT3YAUY»AA ” Jwpswywl pjniot $nlnwyhb pjniob
1 2 3 4 5 6
4235 |- T3E3T3ST3Y 1363(40Ala0YY»hi 4235 10,000.0 10,000.0
4237 |- U»AI3[=064003T3Y I3Eé»ii 4237 180,163.9 180,163.9
4238 |- CUnhwOnip pOnyph wy| SwrwjntpntGbEn 4239 2,022,735.5 2,022,735.5
4240 |20k @2eU29£T2T120 12&20a0A0a0UU°8E O0Pen X 107,451.1 107,451.1
“o5a60
&RCo
4241 |- @36Y=3-CU3T3Y 1363(40Al40YY»h 4241 107,451.1 107,451.1
4250 | AUAZOAT UasaTasd ©1 a2pa=Uasgd (1=63(ajAlasyy»fi X 5,681,363.9 5,681,363.9
 YIasA»i)
&RCo
4251 |- P»YU»AC " T3640l6Y»AC AYAS6CT Yana- 46U~ &=Na&3VaiU 4251 5,401,713.9 5,401,713.9
4252 |- @»U»Y3Y»C ~ 63AUSTaRaUY»AC AYAS6CT Yafia- o0 — 4252 279,650.0 279,650.0
a=N&=vail
4260 |UUacA~s X 600,132.6 600,132.6
&RCo
4261 |- TA=e»YIST3ICY YiaoA»h ™ N=- 466w 4261 82,185.4 82,185.4
4264 |- TA=Ye&ART3ICY YiaoA»h 4264 225,249.3 225,249.3
4267 |- T»Y6=30=3(CY ~ N=YASICY 6YY1C YiadArf 4267 23,621.4 23,621.4
4268 |- D3TAT YAST3T3ICY 3 ViasA»f 4269 269,076.5 269,076.5
4400 |1.4 éad” ek £=20°8 X 35,133,427.3 35,133,427.3
31 A4l
4410 |éas” ek _£=20°8 a°12T120 (02020Us20£U0) X 34,950,190.1 34,950,190.1
T2v@2T°8420A0a000°64£0U
&RCo
4411 | - Untpuhnhwltp ng ShOwbuwywl wtnwyw (hwdwbpuwhl) 4511 34,937,530.1 34,937,530.1
T3UUST»AAAE0AIA0YY»ACY
4412 |- UnipupnhwObp $howbuwlyuwb wEinwywh (hwdw)opwih) 4512 12,660.0 12,660.0
T34UST»AAA0AIA0YY»ACY
4420 |éas” ek _£=20°8 aa a°12T20 (4a b2g=200es=2UEU) X 183,237.2 183,237.2
T2v@2T°8420A0a000°64£0
aRCo
4421 |- Unipupnhwlbp ng wbwnwywlb (ng hwdw)opwhb) ng 4521 183,237.2 183,237.2
YCY3YE3T3Y T3%UST»AA40AIA0YY»ACY
4500 |1.5 _8=2@=2pUasbUes X 500,571.2 500,571.2
31 A4l
4530 |AUA26AT _62@2pUaspbUes a°12T20 b2Ti21£ 20k X 500,571.2 500,571.2
2128 _2TU°8£0
aRCo
4531 |- AYA=6CT 1A3U3RYAANY»A &»3T3Y " NSUSIVUY»AC 4d 4637 51,834.0 51,834.0
3¢ TARSICY T3%UST»AAAE0AIAGYY»ACY
4532 |- AYA=6CT 1A3U3RYAANY»A &»1r3T3Y ~ NSU=Yu3(cY 4638 64,751.6 64,751.6
3¢ TARSICY T3%UST»AAAE0AIAGYY»ACY
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=t ATai0

= “laic» WSICY TSEE»AC WY T »E3-Cr3T3Y o o
[= - S 7 ; e oo 1=
D’EJ % 1383130-U3Y NaTT31Y»AC 3YT3YalUY»AA NN AYISURYA Jwpswywl pjniot $nlnwyhb pjniob
1 2 3 4 5 6
4533 | - 2[f AYA=6CT 1A3U=RYARANY»A 4639 383,985.6 383,985.6 -
4600 |1.6 éaok=2t2T20 Uazetles ©i X 851,071.0 851,071.0 -
ToUeéezAab2TUes
31 A4l
4630 | éaok=2e2T20 uUasAl=20 _ 6202120 X 851,071.0 851,071.0 -
25T12p20Ta0Al2g~ Uaz2éeTuos ~UateCro)
aRCo
4634 | - W) Gwwuwnbbp piniobihg 4729 851,071.0 851,071.0 -
4700 |1.7 2UE 12Eé°5 X 19,362,141.9 20,263,804.5 -
31 A4l
4710 | UTAE82TTa0A0ac0U°s aa 12621262120 X 1,123,216.1 1,123,216.1 -
(p2&2562T2T20) T2v@2Ted84a0A0a000°64£0
&RCo
4712 |- UTCA=rTa0AlasYY»A 3 8=RaslA al»r=ay1ad 4819 1,123,216.1 1,123,216.1 -
T3UUST»AA40AIAYY»ACY
4720 |D28T°6, 42812 _£d 10280°8 ©i TasUA°s, asals X 120,841.1 120,841.1 -
T2&2128020 17267 25 92126 _2TU°dL Ta0dko
TES2&Ta0d ©U gAaU2006 UT2T020"
aRCo
4723 |- &3AT31CA Tx3AY»i 4823 120,841.1 120,841.1 -
4760 |2UE T2Eé°5 X 12,070,041.0 12,070,041.0 -
&RCo
4761 |- 2 I3Eé»f 4861 12,070,041.0 12,070,041.0 -
4770 | a2patéT2ULU gEzaoU°s X 6,048,043.7 6,949,706.3 -
&RCo
4771 |- a=3Na66=3{CY UCcaoY»h 4891 6,048,043.7 6,048,043.7 -
4772 | wyn pUntd’ hwdwybph pniebh Jupswywl dwuh ywhniunwih X - 901,662.6 -
yaY10o yay1=3(cy U=e T3 w3140 N3 T306400Y»AA
5000 |~.aa ukU=20é2T=20 2TTEiIU°sL T1al X 4,959,662.6 - 4,959,662.6
12Eé°s
31 ATal
5100 |1.1 pA@U2T2U gkzaoUes X 4,848,312.6 - 4,848,312.6
31 ATal
5110 |p2Ug®s @i bE£UAAUAUUCS X 3,735,267.9 - 3,735,267.9
aRCo
5111 |- Gklpknh L 2hbnipynibbbph dGrppEnnLd 5111 450,000.0 - 450,000.0
5112 |- b»YU»fiC = RCYABAIAIYY»AC 136450450 5112 668,740.0 - 668,740.0
5113 |- b»YU»AC ~ BCYASAIASYY»AC TSACT S T»A=Yana- 46U 5113 2,616,527.9 - 2,616,527.9
5120 |@°g°U20°s 1 &28g21adaigues X 871,799.7 - 871,799.7
&RCo
5121 |- TASYEA&A3(CY 63U TanaiUuy»h 5121 20,000.0 - 20,000.0
5122 |- 135313V 6303 14RaUY»h 5122 48,195.2 - 48,195.2
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=t ATai0

o A EEAL A i A Ty -
D% = 1:-U'.?g)|'laﬁ U%Yle Nif?fwljﬁ:;)ﬁw :()-;\;éﬁul\'(»;/& NN AYTSUYA JWnswywa pintet | $nlnwiht pintgk
1 2 3 4 5 6
5123 |- 2[f U»U»Y3Y»i ~ 6302 TanasUY»f 5129 803,604.5 - 803,604.5
5130 |=2UEpE@U=2T2U gEza0U°s X 241,245.0 - 241,245.0
ance’
5132 |- &a YiasA=1=3Y NCUYST3Y UCcadY»f 5132 8,495.0 - 8,495.0
5134 |- U2E=-13U»13har3T3Y I3Eeéx»i 5134 232,750.0 - 232,750.0
5200 |1.2 42p25U°s X 111,350.0 - 111,350.0
31 ATl
5221 |- UldsA»fA = &3/=-3Y»f 5221 111,350.0 - 111,350.0
6000 |v1. a4 UEU=20e2T=20 2TTET1UCSE £520200E0 X (4,000,000.0) - (4,000,000.0)
PaiTe™d
31 Ata0
6100 |DEGU2T2U GE2a0U°BE £520A00£0 JATEd X (600,000.0) - (600,000.0)
31 Ata0
6110 |20Up=25A T2a0Ugk £520200£0 BAdTEOS 8111 (600,000.0) - (600,000.0)
6400 |428T2_8121 2TTE1UCSE £520200K0 X (3,400,000.0) - (3,400,000.0)
PaiTe™d
31 Ata0
6410 |DAOK EB20A0Q/E0 BAITEOS 8411 (3,400,000.0) - (3,400,000.0)
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